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Questions: 40 Marks: 160
1. Algebra
) Irrational Numbers (2)
i) Linear Equations in Two Variables (2)
if) Polynomials And Rational Expressions (2)
iv) Quadratic Equations (2)
2. Commercial Mathematics (2)
3 Arithmetic Progessions 4)
4 Co-Ordinate Geometry (4
5. Trigonometry 4)
6. Mensureation of Plane Figures _ 4)
7. Statistics ~ ()
8. Geometry —
i) Similar Triangles 3)
i) Circle & Tangents 3
0 |igm 2
9. Ratio And Proportion (2)
10. percentage and its applications (2)






2  Mathematics

ALGEBRA

IRRATIONAL NUMBERS
mufons Afymret

1. Natural Number (Yfaqga Aftprret)
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3 | T F &7 U3 I TET Afterr Ja At

2. Whole Number (Y3& Rftrnr)

A faeg (0) & yrigsa ffumret f&9
fie@e 2 yuz dAfwrer yas Afret
my @t 35 1fAd: 0, 1, 2, 3, 4,

3. Integers (AY3s Hftpyrer)
g Yigaa Afwr, fage (0) w3 faeana

yfg3a Afamm & Ayes Aftearet mye 95 |
f?"él: ..... -4,"3,"2,_1,0, 11293a4! weil

4. ufgnw Afemret ;-
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q

97 uforwr Afenrr & ot grat fast €F 397,
TANST gy &9 w9nT Aaw af fq fas arg

Wwwmmwmm@r
AT et |

)

5. oaWwe gy § ufona Afwwr & % gu fes
9% & Sanger

IT (1) W eRM®E Aty Big enrse gy e
=

fedt : (1) &t It Afeur & ufonw Afinrr f&g
U8 |

(2) f&at Afunr &0 enHsT € »igr e usT a9 |

(3) Aftor & wim ST emvme § gole =,
9 &9 1 feue €8 fres fob fAg fa »im
feT omi®T I Hag Mia I& |

(4) g MTMI IT § HY IHF 3% TN J9& I
mﬁgﬂ?ggumaanaézm

graT (I) 7€ TAHST MATT TI9ET TRHSE gV
feg 32|

1. HU g99'gv onvse

feat : (1) &3t It Afwrr & f’om frugtar €@
qITHT 15 B

(2) fe'gt It fAfiorr I A2 Guast BEts (o)
(bar) § Jet § gUg@e war § € w9 f5H)

(3) EUTRT JT »igT &1 farest ugT qad 57 §
10" € &% g 99, fAg n’ gaage wiat
@ farest 31

(4) yar (2) & ud (3) f&9° we§

(5) g, yuz Afpwr & fatga € @ wig
3% g791 a9 M3 At § One fa@aav av
S wes|

2. fag oo e emme

féat : (1) ma3s goo@e emisE & 10" 38
IS I9d HU TIIET oAnme fET 5E8 |
fag, n & goarge =F rigr @t farest 31
(2) TAMEBE § HU ga9'9™ s f&ut aat
ITad|

6. Irrational Numbers (mufens Aftmirart)
fea HAfunr niufonw Afewr »ye@et 3, A
fen o MATg &7 ST Eer eRHBE 39 |
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wyforw aor@eht a5 1
A2 J2. 3,5, oo nfa

. Real Numbers (Tw3fex Afunet)

9 ufoiwr w3 mufone Afanret € aya &
THIfed Aftmpet fagr Aier T

. Surds (F3&hyt)

7 ‘o fea ufore dfo w3 ‘n’ foa usang
fygs Afr § 3t fa ‘o’ S n Hwa gve

(a) L[rfgaa At
(b) FuTs Afunret
(c) ufener Afwwrst
(d) mufors Afumpret

: uFaﬁvrfrfuw—g— T EAHBE U J|
(@) 1-16 () 1-16
(c) 116 @) fest feg* Fet
st

: ufdﬁvrnfuw:l? T ST gU T |
(@) -1.6927 (b) -1.692307
(c) - 1-69237

(@) fegt f<g I aat!

1001 § fafiorr 77 Farer 31
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(c) T (a) M3 (b)

(d) fegt feg" et st
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al" 7 oy fex niufoia Afwour 3, 37 0!/

$ gast 7 n w3 T q9ST I M3 a

3 W& Tatar |

(i) Wt gaSt muforw Afamret § Aaeht
5 ug wratnt muforw et gast
St § AEEt

(i) fea ga=t ffynr faw o ufoiwarst
Aftmr s et 3

(i) f&g aa=t Afwmr faw o ufoiwarat

JestT fog &7 92, €9 ffwr fimfag
Faat Afer mu=i§et 3
. 2:15 @ % quJl
215 43
(a) Too (b) >0
© 2 (@ feg fesr et st

616 617

(a) 99 (b) 59

76 e o

© 5 (d) fegt fes et aat)

47?§~gui‘n

@ 1 ® 5

(c) % (a) feg feg° aet aat)
. I el f&5 uferer Afamt )

(@ (V2 -1)?

®) 1+J2)1-42)

©) V2 +1y
(d) fegt feg aet st
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T JTIT wewgEr I
(a) ufore Afepur

(b) yfgza Afymr

(c) Mufona Fftprm

(@) fegt feg get sat)

(a)ul%)mwwfa)m

(b) wufene AT ufanwr

(c) F (a) M3 (b)

(@) feat fes aet aat|

1 & feform ar e 3

(@) ™/a ®) 4a
(c) BF (a) W3 (b)
(@ fegt fed &€ &t

(szfwfuwa*m%l

D b o’

o) (Ya) d) fegt fe9 aet aati
J49 x 27 & WE IR

@ 321 ® 2143
© 921 @ 219
324 + 6 T WE TRar

(@ ¥y7 M) Y6
() 22 (d) fegt feg* aet st

1
4+\/§ TTHHEUITad |

4-5
1

(@) (b) 0

4445
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(© 1 @

16. -—g—j_— TTHE YIT T |
(@) -(16+8J5) (b) 16+85
(©) 6-8J5 (d) fegt feg et sat!

3, 2 .

17. 3—\/5 3+\/'2— o HES I
MECEEERN O L
()_lé___[., @ B2

18 -ﬁ— T HE IS

NG
14
(@) —‘/4: (b)—£
© %f_z_ @ fext fs 2ot ot

19. Ad9 ;iﬁ =a+bJ7,IramI ber
W& J|
@83 (38
(c) €& (a) M3 (b)

(d) fegt feg a=t aat)
2. 43+ 34 eI UIT AT
9 256
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(©) 1256 (d) fegt feg" Jet &t
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22,

@ Vi (b) 31;’8‘/5
31+ 1047 P
(c) 9 (@) fegt feg agt sat1 ¢

325 2349 T HE UIT AT

7
(@) ®5

W o

5
(c) 7 (d) 5

SET-11

T Yigsa A, fAeg (0) w13 faeava
yfgsa Aftpret § wWme 75|

(a) T mafea Afunret

(b) ufenw Afempet

(c) AYTs Afgmrst

(d) feg™ feg det &at |

ufonw w3 »rufens Aftmret @ Aayg &
wWye I |

(a) TH3feT Aftprer

(b) yfgzsa dfprret

(c) Aygs Aftnpet

(d) fegt feg det &9t |
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1000 & SRS QU I
(a) 029 (b) 0-0029
(c) 0.029 (d) 2.9

16 a
The value of 25 © SEHBR gudl

(b) 0-356
(d) None of these.

(@) 0-35
(¢) 0.35

1 "
-2— € EAHEE gU J |

10.

11.
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(a) —2-42857 (b) —2-432
(€) —2-3857 (d) fegt feg ot st
0-37 ?‘% gudl
‘ 9
ta) ® 3o
378 e
© oo (d) fegt feg aet &at|
- P _ s
01 % 7 gudl
A 1
2 700 ® 73
9
© 10 (d) fegt feg Jet sat|
125-3 & fafanm 7 Aaer J1

0585 & fafor 7 Ager 3

385 oy 8
@ To0 ®) 399
100 o St
© 383 @ 383
5 mMT 6 & fegarg et € ufonw Afgnurar
J&5 |
(a) 450,425  (b) 625, 6:50
() 525,550  (d) 725, 7-50

J2 fam 3gt &t Afenr 3
(a) ufona (b) Mufarw
(c) €2(a) M (b) (d) et = Fat|
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12.

13

14.

15.

16.

17.

18.

19,

ufonsd M3 miufane Aftrar ar 93 3
(a) ufons (b) miufora
(c) BF (a) M3 (b) (d) Jet = &t
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(@) V3,J6 () V3,45

(c) V5.J6 (d) SudaT Ad |
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(a) ufare (b) mufane

(c) yfgsa () fegt feg §et aat
Y7x349 T ws 2

(a) 7 ) J7

(c) 49 (d) fegt feg et aati
412x7J6 = W I
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(€) 168V3 () fegt fes agt aat)

3, 2 _
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(a) 2543 (b) %

o B3 eV
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1442 1-\2 _
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(@) J5 -J6 ® V5 + V6

© Jo -5

() fegt feg Jet =at!

6327 =312 © WE T2
(a) 1 (b)2
() 3 (d) fegt feg aet aat)
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21.

27.

(1 (b)2

(© 3 @ fegt feg det
Sat|

35 fefprr feg faost gt 91

(@) V27 x 3

(b) 4428 =3.J7

(c) 325 x%.
d) V18 x 27 «+ J12.
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(a) ufor@ (b) Muforns

(c) AUTS d) fegt fes o=t
&t

90 feal .......... Aftpr 34

(a) ufolw (b) mufans

(c) yfgsa (d) fest feg Jet &t
=) ;Ii*g =a+bJy3 IramI b
WS J1

(@) 1, -1 M) -1, 1

(c) 1,0 @) o, -1.
ﬁ'a'a:g;i+‘/‘/§f: =a++3b I a
M3 bE HS T

(@ 0,1 () 1,0

(c) -1,0 (d)4,0

. ¥ ufonw Afret feg fasta uforw
Afyniret wr paEit a5 |

(a) mMfares (b) o'g
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J9 ufong Afunrrat y3T a9 |



29.

30.

31
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7 15 L1 (a) (2+2+2) (b) [(2+2)'T
® 3525 ®33 © @x2x27 @@
1 1 - . 2 2
© 13 (@ et & mat 32 %9?2) (85) famﬁrfunrrmgaa'fe?ﬂ"ﬂs
()17 (b 11
(25)" x 16 = Ws UIT AT | (c) 10 (d)50
@) %xlO” ®) -::—x10'2 33. Y49 & ufanwErdt gred 3
. B (@) 49 by 7
© 107 @aAfesadam  ©0 CRLR AL E
' 34, 999 i =2, T3 x THE YIT I
2 & im @ agehrg fe fohor ar oAl *
Ay (@) x= 15/ (b) x—1.6 e ‘
©x=0 (d) fegt fe'9 aet &at
: b 21 p
(@32 ®) =3 35. I fendt Afwn & 0.272727.......... -
© 32 @ fegt fed et st gy iy few
- 3 2
INTEEN TR AL ® ®
(a) 26 (b) 34
(c) 24 (d) 32 27 9
(©) 100 () 1
g 3 3 3
Answers (Set I)
1. (¢ 2. (a) 3. (b) 4. (a) 5. (b) 6. (b)
7. (b) 8. (b 9. (¢) 10. (c) 1. (¢ 12. (@
13. (b) 14. (a) 15. (a) 16. (a) 17. (b) 18. (a)
19. (a) 20. (a) 21. (c) 22. (c)
Answers (Set II)
l. (¢ 2. (a) 3. (b) 4. (a) 5. (a) 6. (b)
7. (b) 8. (a) 9. (b) 10. (¢) 1. (b) 12. (a)
13. (d) 14. (a) 15. (a) 16. (b) 17. (b) 18. (a)
19. (c) 20. (b) 21. (d) 22. (b) 23. (a) 24. (b)
25. (d) 26. (a) 27. (a) 28. (a) 29. (c) 30 (b)
31 (b) 32 (@ 33 ) 34 (a) 35 (a)
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ALGEBRA
LINEAR EQUATIONS IN TWO VARIABLES
dfua milaget

" JuE BT IS

ity milags : mitagT ax +bx =¢,a =0,
b= 08 9B T It AiaeE TIfAT a, b
MT ¢ MUS TRIfeT Afvrat a5 T x,
y € 987 95|

g mlggs e gB A al +bm=c=0
T3 x=1mMITy=mmiladT ax + by +c=
0T IZ T

Ifux AHiaEE ax + by + ¢ = 0 & M3 :
3t mitgae e waY Jo Tt fedt s

i) € ygnug &9yt X'OX M3 Y'OY
fig frost & wmt fegem »iat ud
MHTYTIT |

i) xmIyeGufdsysasusragw
gt mifelgs © 9% 9=

iil) fegaT W' At § #By Uue 3 5§
w3 fient § € feg fadt Sur
mtaEE T Way T

fe3 7 i et oot milggs e 3y 3

3 7 zdt, & g 995 ot W9 :
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39| 799 feq atage o 9% 95 I fiT
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I8 &t g8 I fag fadt 3y €3 aat 3

€ 98 T8 it mitdest @ A3 § W

I o mrandt feut :

" B8 fadhut Tet mitaget

ax+by+c=0

M3 px+qy+m=03I&I

fA% a,b,pM3 q2 0I5

fegst € mitaact e w3y s F w3 viE

&6 fev mitaest er By Jur=t |, M3 |1,

I5 | AT AroHS 35 fafit fas afadtur
T IS TS|

i) ¥E 1, M3 |, AT T& |
few nfast feo milasst e 95 aet
&dt g=ar | few Ig+ bt mitgeet &
WTHAZ afde 5|
i)y FE |, M3 |, AUt a5 |
few rfast feu mitager © W33 75
Jeani ]
i) 7L 1| w3 |, fe'T g 3 deetit 75|
fennfas%feamﬂaa@?fmwaeam
fev o5 Gv fig & fAm 3 feg €2 Juet
Feahnt 75 |
€ 98T T8 34t milaget § divafsfza
fedt ovar % ST
a) yfemays feut :
i) far <t fegmilaes feS yerysxe
gy feg ugr a9

i) y8TH® ERat Avaee fE'e yfsmarfug
qI M3 X ETHB UIT I |

iii) x TF feg ¥'® faw St fe'g mitase feo
YT I A y T HE YU Jer T
ERY 3919 &% it x T HE y e qu feT
ugT Fgtar i feg wrt y o o' S 192 (i)

7 w3 x ' e Gus €3 ua i) &8
U3 qaiar|

b) Comparison Method

¢) ASFT F ANS FIS T fan

) &St midgest § T 1w o
mﬁ:ﬁs?mzfaaforfamav ",
T JId §9'Hd g A

ii) feg war (i) fe9 it mitage & oo
9% fem I ag!

i)y feT uar (ii) f<e fist mitaes §
9% g Iw ad|




iv)fenawwa‘shﬁa?mﬂaae\féq

FUS 3 THY 98 € U & YUI J<Ir |

d) fear yw Rfgdt Agg x w3 y € IS

€& mitgest &9 fea gAg €t A9 9

HZ'?K@px+qy“m7ﬂ':':’qx*-py—n?:r
5|

) €& mleesT § ASs I YUI e I
(p+tqx+(@+p)y=m-+n
AT(p+q) (x+y) =m+n

+n

. _m
Hrx+y = p+q ..(A)

i)y Mitaeet & we'@e 3 Ad yus der
g

(p-qx+(-ptqy=m-n
A (p—q) (x-y) =m-n
m-n
»—q B

iii) (A) M3 (B) § #7356 3 'S x M3 (A)
?‘G(B)xw@eymymw
|

Afx-y=

Jfux milage

AT ax + by = ¢ & WHY
a) 99 T " b) fRTGTSuT T
¢) 949 d) <99 3y

Aqd ffE P (m, n) MilddE ax + by =¢c &
W%m@safaaﬁby—c?
IBT:

a) x=m,y=n b) x=0,y=0

c) y=0 d) x=0

Mg y=aTo wdy ffa oy o &
a) x-— ‘J%E‘H’H‘"SB’UET%

Mathematics 9

(e) fagst areT feut -

T Mg Y&t a;x + by +¢; =0, ayx
+b2y+cz—0€TWf§3ﬁW€3ﬁa’
&5 fer 3gr

. =, K
by - by Cqay - o
_ 1
ah, — aby .
[ Tl 13 NSO o/ Bl ¢ L
I aby — ayby mMIy " aby — b,

W& ST ax+by+c;=0 M3 ax+byy+

C2:=0

- a b

a) A - = CZ ECELIR:LICCRS

Y8t T dgt 9% &t 999

= 4 b, 4 <

b) Aad — #—L=-L Iu 3 milaee
2 b o

yeat o feq 7% J=ar|

- a b c %

¢) FEg _- = ;- = —- 3T ot mitaee

) 2) 2 )

y=Tat € »isz 9% Jeari

c) x—gﬁéﬁﬁmﬁﬁ'
d) x-gITHFUR I
A9 (a, 4) MFIT 3ty
3T “a” T HTE UIT A4 |
a) -3 b) 1
c)3 d) 4

Aggx=1,y=| AHlaaT x+y=bE'TH
J° 3T b’ TTHS J=arr:

2) b=1 b) b=2

¢} b=0 d) b=3

AT mfage” a;x + biy = ¢ MT a)x +
bx—czemmaurefax?fezres
a) faw S fig 3 T

b) few fig I Te=aim’

¢c) 993 A ffent 3 deeaitnt

d) fegst f9 avt st

=103 AgUI J



10
8.

10.

1.

12.

13.

14,

15.

Mathematics

AT 6x+9y =21 M3 6x + 10y=4¢
I8 Ja1

a) x=-13andy=-17

b) x=13andy=17

c) x=-13andy=17

d) x=17andy=13

k € W& U3T A9 Add AHIFaET 2x+3y=5
T 4x+ky=10 € Mfa53 & I 3T
a)l b) 172

c) 3 d) 6

kT H® R 3 familaaet kx + 2y = 5.

MI3x+y=1fegTBT:
a) k=6 b) k-6
c) k=5 d) k=4

k € H® R 3t fa mitgast kx + 2y = 5
M3 3x+2y=1 TFE TT SN T

a) k=6 b) k=-6
¢) k=5 d) k=-4
g mitagst e fas I3 JT 75
a) BT IT T

by TTHT

NRELR G

d) mMfas3 3% 95

a T HE €F I familgasrax + 3y =15
MI2X-y=5TCMEI TS IS :
a)a=-6 b) a=6

c)a=3 d) a=-3

99 Y33 ot Oug v 3% a=t fusT &
Evia feg 735 3 85 M@ W Jav fugr ot
o SgsrusT A e feTass 3
95 i I+ fugr T U39 ot e ot T34t
a) (40,15) b) (20,10)
¢) (30, 15) “d) (50,25)

T Afpier v A 35 T MI wigT 13 F
Rftprigr U3 99 :
a) (11,24
¢) (11,12)

b) (24,11)
d) (24,12)

17.

18.

19.

20.

21

4 FIRMT W 3 HET &7 HS 2100 9. 32
MI 5 FIAPHT I 2 HAT U 17509, <
37 | gOAT MI | HH ©F WEI-HBAT HS
d<ar .

a) Rs. 500, Rs. 150

b) Rs. 150, Rs. 500

¢) Rs. 150, Rs. 150

d) Rs. 500, Rs. 500

3 WA T 2 FIRPAT ©T H® 2750 7. I
MI 8 HAT T 5 JIAMHT BT WS 7200 7.
JT 3T | HA T | FIAT T HWBI-HBar
)_ﬁ%’fléﬁl’":

a) 6000F.,40009.

b) 65003.,40007.

¢) 6400F.,40009.

d) 66003.,40007.

5 A ufast A ©f €ve B € 35 gt /it
M3 0T Tme feg At Qe Bt &
gret 3=t 3T A3 B S iiger By Tt
a) 30 A%, 10 A%

b) 50 A'% , 20 A8

¢) 0TS, 10 T8

d) 60 %, 10 A5

e vt TET ffwr fg feamet o »iw
TIE @ wid T @ gIeT I | A Aftmi 2
Afin 578 27 0 At § 3T AT T
a) 30 b) 34

¢) 32 d) 36

lomufawﬁm#r@nagsve’r@m
T 10 I A w3 10 7% gmie f&e fuzr
=t e u'se ot Ove ¥ & g §at 3F
&=t ot Svet T=ait

a) 24 &%, 12 A&

b) 34 WS, 12 FS

¢c) 0TS, 12A%

d) 36 %, 12 "%

4 = 3 5
AHfagst —+3y = 1493 — -4y =238

I&E TS :
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23.

24.

25,

26.

27.

a) x=1/5,y=-2b) x=5y=-112

¢) x=5,y=-2 d) x=-5,y=1/2

m % ._]_+_.1_ - =
Lo 2x 2y 2 w3

1 1 13 3

3x s 2y o TIT TS

a) x=-12,y=-1/3

b) x=2,y=3

c) x=12,y=1/3

d) x=-2.y=-3

fé‘aé%am’rﬁfuwm@n‘ra‘*é‘ﬁg
FrAFS I M AT T IST T 23ET T
It Ay G341t -

a) 36 b) 63
c) 72 d) 54
. 3x Sy _ =
mitaast 5 g 2
X,y B
3 + 5 6 TIH TS
a) x=2,y=3 b) x=-2,y=-3
c) x=-2,y=3 d) x=2,y=-3

RHITEST /25 + Y3y =003 J3x - {3y
=0T TS T& :
ayx=1,y=1
c) x=0,y=1
d)x=1lLy==1

b) x=0,y=0

(a+b-3)y=4a+b A3t qwer §

THEE I8 3 a w3 b fow mitaes §
Agne g339r:

a) at5Sb=0 b) S5a+b=0
c)a-5b=0 d) Sa-b=0

MFIST 25x+ Sy +20=0 HF 10x + 25y
+25 =0 I3t :

a) greIT Jyrat

b) AMT3g Jyr=t

¢) AYSt Juret

d) et <t 53t

29.

30.

3L

32.

33

34.
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. PHIFTET 6x -3y + 10=0MI 2x -y +9=

0 I :

a) TEEPAT YT b) AHIIT JuTeET
¢) Aurdt qyet - d) aEt S saf
ke H® €F 3 fa milegst 3x +y = |
M3 k- D x+ (k- 1)y=2k+ 1T gt
IE &I T:

a) K=2mM3a K=-2,~1
MWK=-2mFK=2

) K=ImM3 Kz 1,2
d) K=—1 M3 K=-2-1

AAE3x+y=1mMI 2x-Dx+(k-1y=
2k + 1 ANT3T 9 37, k €T H'S UIT&J :

a) | b) 0

¢) ~1 d) 2

Mt A 3

L i B B E

3 - =
P + -1 =2M3 x#x-1l,yx-1%¥

T8 TS

a) x=-5.y=-2 b) x=5,y=2

c) x=-5,y=2 d) x=5y=-2

fsafa?;enmfe%num@a'afev-
wwﬁwfwewfﬁrsmg

fea-az;r@ﬁ'?féwﬁé’arr:

12 -12
a) s b) =5~
17 3
c) 5 d) o

‘2’ O HE ©F 37 fa milaast 4x + 9y + 5
=0MI 2x + 3y + 7=0 & g 9% J=ar:
aya=6 b) az~-6
c)a=#3 d) a#-3

HET (4,19), y = ax+3 A& e g d I
A NS UITAd
a) 3
c) S

b) 4
d 6
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35.

36.

37.

38.

39.

40.

41.

42.

Mathematics

Add X3 +ax? + bx + 18 T JSFYF T (x -
DM a+b=-7T 3" amIT b HT
aéal'l

a)a=3,b=4 b) a=-3,b=4
¢c)a=-4.b=-3d) a=3,b=-4

HAT 5v=25 WF 5*u=5 Jt

a) x=1,y=-1
b) x=-1,y=2
c) x=-1,y=-]

d) fet fog aet ot

“k» &t faugt a3z A3 mitlads 3x + Sy
=0MI kx+ 10y =0 T fART aB & T :
a) 0 b) 2
c) 6 d) 8

ST 3x - Sy =203 6x - 10y =40 &
Harfefaa feut gt :

a) fed g% =ar

b) MEI TF Tar

¢) Jet I® It I<ar

d) feust fe&g gt &at

Hag € 3ut milaest © Way fex fig 3
& 3t milagst Jeaint . :

a) AHT3T b) A3

¢) AuTst d) Jet wdt

Ad9 € 3t mileest & Way Mg 38
3t mitaast g

a) AMT3T b) ¥IT=

¢) gt d) Jetzat

Ha9 © 3dt mitaast o feq feg o & 3F
fegst @ way :

a) fea fig 3 fwsear

b) &9t fis=ar  ¢) Mg Jeai

d) et Bt

49 ¥ 3l mitagsT @ gt 7% JI9r 3F
fegat @ By :

44,

46.

5:5000\10\\0&0)!\)—

i mﬁaWSx+7y—16m§7x—4y=2€r
HBY
a) fex fae 3 fusear
b)xa‘fﬁma—dr
¢) ANTIY Jar  d) AUt JIar
~ l e - -
Adqd l =2, T I x T HE YIT A9
1+ 1
I+
X
a) 1/3 b) -1/3
c)-3 d) |
X+y=5,x-y=5MmM3 x=0,§ W3fuz
aazsme@faaﬂemax.safma
foe 339 -
a) 0,5 b) 5,0
¢) 0,-5 d) 0,0
@ Afunret or A2 35 T I W8T 13T
Aftprret €7 W UIT 9
a) 24,11 b) 26,13
c) 42,29 d) 10,25
. AGT2x—(a-4)y=2b+1MIT 4x-(a-1)
y=5b-1TWMEI IT IS ITamMI ber
H'S &t J=ar :
a) 4,3 b) 6,4
¢) 7,3 d) 5,7
. k@t faast atis @I mitaest x + 2y =3,
MISx+ky+7=0eT ¥ THT:
a) k #10 b) k =12
) k #2 d) k #0
LINEAR EQUATION
b 3 b %5 ¢ 37 a
a 4 a 26 c 38 b
a IS b 27 ¢ b
a 6 b 28 b 40 a
c 17 b 29 a 41 a
b 18 b 30 d L a
a 9 d 31 b 43 d
¢ 20 b 2 d 4 b
d 20 a 3 a 45 b
b 2 ¢ M b 4% a
a B a 35 ¢ 4 ¢
d 24 a 36 a 48 a
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POLYNOMIALS AND RATIONAL EXPRESSIONS
goue M3 Ufonw feraa

AT YT THPHT BT ¢

i) frostagudtStwg 1,2 w3 3369t
& fea y=t € yet w3 3% ust sgusmt
Wye I |

iy fex smsfea W ‘0’ § FIUET P (x) &
fAge aatar Ag9 P (o) = 0 T2

iy HGUT P (x) Ihot fragat Gost fiemt @ x
fogon #e 98 fHT y = P (x) ¥ mBY x-T3
g e dl

iv) AAd aMI fE WS HIUT ax? +bx +c=
0, a # 0 bt fAga™ & 37
fregt ov A= =

-

-b
at+B=— w3

fnaafera;ra?ﬁB:aﬁ:-—Z—

v) nw3t ggyue € famrer 3 fammer o freet
T AaetdT g% | fer T3 € udt sguT
frmar 3 famer 2 ARt w3 f3suet
ggue famrer 3 famrer 3 fieat Seaihar |

vi) Had a, B,y fSauet sgue ax® + bx? +cx +

d=0€twr’rfnea+awa‘fa+|3+y=lab—,

b —'d
af + By +ya = %WCLB}' =
vi)) Divided = Quotient x Divisor + Remainder

vil) p(x)=q(x) - g(x)+y(x)

fEar 3Ty (x)=07 r(n) T WI ag®x)
& w3, fer § mit sguet & g fedt
e It
uforer fenma ;
_fx) Cmom s . A
P = ) & 39t € ferima § ufonw
feima mmue gt 87 f(x) M3 g (x) Hgue
TEMI g(x) =01

) ufonw fenmar v 83
p(x) . r{x) _ pix)s(x)+q(x)r(x)
q(x) s(x) q(x)s(x)

i) yfenw femimat € weE:
p(x) _rix) _ p(x)s(x)-q(x)r(x)
q(x)  s(x) q(x)s(x)

iy yufodw fewmat €t gret

p(x)  r(x) _ px)r(x)
q(x)  s{x)  q(x)s(x)
iv) uferer feimat €F gwr -
p(x) L Ix) _px) L s(x)
q(x) s(x) q(x) rix)
- P(x)s(x)
q(x)r(x)
plx) __ - o p(X). o pla)
ey E’TUI'GT‘@B'E—"““q(‘\,) ks S
. q(x) 5
FJTINT GBC ) S
vi) @ ufoiw foimar e 8739, weos, gt
wI grar oimr uforiw foima ot 9<ar

froe fAg oo g sgue T § 99 : o8

gror &4t J AaeT

7 ufonw feima ersfea sat T 3t €

= g9 figg g9

JE5UF uforw -
(x-a), f (x) T IEHHF J=aI" frge 3 frge
99 f(a) = 0 T2

Agdt 539

i) (atb)® =a’+2ab+b?

ii) (a-b)* =a’-2ab+ b2

i) a’- b’ = (atb) (a-b)

iv) (atb)®=a®+ 3a’b + 3ab2+ b*

v) (a-b)*=a’-3a’b + 3ab?- b3

vii)
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vi)

a® + b= (a+b) (a2-ab +b?)

©vil) a’ - b’ = (a-b) (a’ +ab +b?)
viil) X} +y3+23-3xyz=(x+y+z) (2 +y2+ 22

ix)

1.

[

Xy-yz-zx) =% (x+y r2) [(x -yy+
(y—2» +(z-x)’]
at+a’+1=(a’-a+1)(a’+atl)

39 Jet AfynT Jrests &at 7 3T FguT
TH.A.€. I
a) 0

c) 2
4(x-372(x— 1)(x+|)3n136(x 1P (x+
P (x+7)THRIJ:

a) (x-1)(x+1)

b) 2(x-1)(x+1)

) 2(x-1)(x+1)?

d) 22 (x—1)2(x+ 1)

b) |
d -1

p(x)h@q(x)@'){.ﬂ.%aﬂ'ﬁﬁa’ag(x)

=x2-5x+6MI q(x)=x*+5x - 14

a) (x-2) b) (x-2)°

¢) (x--2) d) (x+2)

319 fedt mew fex ggust I w3 fer &t
wIJ:

a) | b) 0

c) 2 d) «

gguTt X + 2 - 7R W3 T

a) 4 b) 2

c) -7 d) 1

FoUSt ag+ax +a, X2+ 2 X+ e +
a,x" n>0Et W3 q:

a) an b) 1|

¢)n d) n?

gguet (x-1) (x -2) (x-3) ST WwI T :
a) 1 b) 2
c) 3 d 0

10.

1.

12.

13.

Wlﬂh(xz—l)zhiﬁw(xﬂ)z(x-—l)
TH.H.T.T:

a) 5(x+ 1Y (x-1)

b) S5(x+1)(x~1)

c) S(x+ 1Y (x-1)

d) (x+1)*(x~1)

p()=4(x~1) (x> +6x + 8)MI q(x)= 10
x-D(x+2)(*+7x+10)T"E.A.T. T
a) 20 (x—1)* (x +2)* (x +4) (x +5)

b) 20 (x=1) (x+2)* (x +4) (x +5)
¢) 20(x-D(x+2)(x+4)(x+5)
d) 20 x-1) (x+2)2 (x+4)

p(x)=12 (x* —-x3)>1f3'q(x)“18(x -3x*
+2x) TTH.H.2.J:

a) 36x3(x-1)(x-2)

b) 36x(x-1)(x-2)

¢) X*(x-D(x-2)

d) 6x(x-1)(x~-2)

p)=(+x+1)(x+ 1) MF q(x)=(x~
N AT

a) x+D)E2+x+1)

b) x+ D E*+x+1)x-1)

¢) x+1)(x—-1)

d x®+x+1)

AT p (x) M q (x) € FPUEPH IS M q

p(x) .
(x) =03t q(x)am

a) Ufone nier
b) ufonw feima
c) SgUet '
d) et <t adt

T9 fea syt fear ufonw foima 3, ua
99 feer uforw ferime ...

a) fea mguat St

b) aaue’rwam’rm’f

¢) g It guet ISar

d) et <t st




14.

15.

16.

17.

18.

19.

x+3‘/_+lfga' Fiver i w5t 3

x“+1
fagfear :
a) fem ar iy fea sguet 59t
b) fer e g9 fea gguet &9t T

¢) &7 I WH MI &7 ot 99 fea sguEt I
d) et <t &at

3'_ a
ufane feer ’;2 _dewmgua:
x* +3x+9 2 -3x+9
4) x-3 b) x-3
3 2
x*-3x+9 x“+3x+9
< x+3 s x+3
23 o G Qe 3
P +4 = .
2x2 -3 x*+ 4
3) T g b 573
-2xt -3 Dt = §
L ) 7
I e G Qe
4x + 6
x -4 x—4
) 1576 b 4r_s
-x -4 -x+4
°) Tt Y Txae
J&t faost aguet
a) x>xyt+7y?
b) 2x+3y
¢) 7x3-2x2+3Vx-4
d) x2-x+2/x
x =-1 F SgUTT 5x-4x2+3
TTHE g9
a) 6 b) -6
c) 8 d 12

20.

21.

Mathematics 15

It faast ufarne sguet I
£ 4+ 2x? b) -1
2x\/;+3 w/—x 4
2 3 2
x°=3x+2 43 -1
@ x+1 d x* £ f3x —1
a2-1-2x-x2 @ JETHHTF TS

a) (a-x+1)(a-x-1)
b) (atx-1)(a-x+1)
c) (atx+1)(a-x-1)
d) féar fes et <t &t

£ =38

22. ufens fedma —— THIS U :
2 2 _
a) X 2x +4 b) X +2x-4
X+ 2 x+2
2 3
x“-2x+4 x“-2x-4
%) xX+2 4 x+2
¥+l -
23. uﬁimﬂ——'mma ) & fem € HI® gu
feafsy .
x-1 X +x+1
s b =
2) x+2 ,) x+1
o) x2-—x+1
x+1

24,

25.

d) f&a fes aet <t &at
F3v7eT Fei X+ 4 (x-—l)er)_m_a_:

xX+2 x -2 =
xX+6 xX-6
) -4 b) x*+4
X+6 X -6
I oL
x+l 1 v A
ufamrf@»mar TIHET:

+3 =
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26.

27.

28.

29.

30.

Mathematics
2 +x +2) 232 +x+2)
3) x4+ x>-5x +3 b) - 5x +3
(X +x+2) 2x* +x+2)
c) 3 d)

x5 +3 B o5x+x2+3

ufawmfewx Fxof Eel
x2 -1 x -1

2x2 - 3x 2x2 - 3x

a) — 7] b~
2 2
x° +3x x° - 3x

c

) 7 I

x -1

Qv farast ufeier fevirmer & framgs 2=

2 = -
eh?ﬂs?;g—z—’f——"'—‘i—lﬁm:

24x-6

) 373 ) 35

+2 -

C? jc+3 9 i—i
XHx24+25 T IESUT T

a) (X*43x+5)(x%-3x+5)
b) (+3x+5)(x*3x-5)
¢) (XPHx+S)(x2-x+5)

d) fewr fed aet <t =t

2

llwmﬁé‘&?f&s&:
x._

1 1
) 2 L

| x-~1
<) x+1 2 x+1
fla'cfx‘“rxz—-ZO o feg sty (x2+5),
J 3T THT JS5UT T5
a) x*-5 b) x*+4
c) x*—4 d) x+2

31

32.

33.

35.

36.

37.

38.

39.

HAT x -2, 2x%~ 6x* + 5x + K €T ISHHT
IITKeHB AT :

a) 0 b) 1

c) 2 d -2

a TTHS UIT a4 Aad x=% FTUET 83 +
ax? -4x +2 ITYEEUF I

a) a=4 b) a=4

c) a=2 d) a=-2

TIUE p (x) =x >-3x7 +Ax - 2§ TEEYT
(x-3) € &% FIT €< F 59T I

a) | b) -1
)2 d) 0
goueT (x° ~6x2+9x+3)?§(>~.~1)€?>"'8'
FITSE I TET E9ET T
a) 7 b) 6
)5 dy 0

HIUET €@ x* - 7x + 6 IETSUT TS
a) x(x-6)(x-1)

b) (x*-6)(x-1)

¢) (x+1)(x+2)(x-3)

d) (x-1)(x+3)(x-2)

HgUTT x-5 et fieet 0%

a) 5 b) 0

c) | d) None of these
(-2 +x)MI28(x*+ 1) TTH.A.T.T:
a) x*+1 b) x+1

c) xX>—x+1 d) 4x>-x+1)

(1-x),0 +x)MIT (I-x+x) T H.H.<.
J:

a) (1-x%) b) (1+x%)

¢) (1-x° d) x+1
x-DE-D)MI (-1 THA.T.J:
a) x°—1 b) x~-1

¢) x*-1 dy x+1



40.

41.

42.

43.

x> —ax?+ 6x — a?‘ix—aETW@BTEFE
gat e J

-a) Sa b) 4a
¢) 0 d) 6a
X4+4 T IESUT O

a) (xH2x+2)(x%-2x+2)
b) (*H2x42)(x*+2x-2)
¢) (x*2x-2)(x*2x+2)
d) (x*+2)(x>2)

(x*+x2+ ) T ISHUT R
a) (X—x+1)(x*+x+1)
b) (x+2)(x+3)

¢) x-DEX+x+1)

d x+DHEP-x+1)

a9 gguTt f(x) = 5x2 + 13x + k &1 fea

frieg onet fAce Et €Be I 3t ke s
ieak-c

a) 0. b) 5

c) 146 d 6

gauet f(x)=2x*-6x*+2x%-x+2 § x 12 ¥ &F
T g9 I at §9eT ¢
a) R b) 24
¢) 48 d) 29

46.

47.

48.

49.

50.

Mathematics 17

. HEd (x - 2) SOUT (x2 + 3ax-2a) T ASHUT

I3TaTHSUSTET :
a) 2 b) -2
c) 1 d) -1
a'erx5‘+518(x+l)€mmf€?
AT J 3T e UIT a9
a) 52 b) 53
¢) 50 d)y fegt fegadt adt

"aq p(t)—3t2-2t+l q(t)y=3+t-1, 37 p(t)-q(t)
€t w3z g4t :

a) 0 b)2

¢) 1 d) »feefag

FET p(X)=2x3+x2-2x+1, gx)=x*-3x2+2x-1 T
37 p(x)q(x) € W3 TSt

a) 9 b) 0

c) S d) 6

P(x) = 7x*+4x2-3x+12 SgUE ST W It I
a) 2 by 3.

c) 1 dy4

fea Tgar o7 439eF (49x7 + 28x +4) T It
fen €t gur 52t

a) (7x+3) b) (7x-2)

¢) (7x+2) d)(5x +7)

POLYNOMIAL AND RATIONAL EXPRESSION

1 b 1 b 21
2 ¢ 12 b 22
3 ¢ 13 b 23
4 a 14 a 24
5 a 15 d 25
6 ¢ 16. d 26
7 ¢ 17 a 27
8§ a I8 a 28
9 a 19 b 29
10 a 20 ¢ 30

C 6 6 0 R an a6

31 d 41 a
32 b 42 a
33 d 43 b
4 a 44 a
35 d 45 d
36 a 46 ¢
37 d 47 ¢
38 ¢ 48 d
39 b 49 b
40 a 50 ¢
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)
i

iii)

Mathematics

QUADRATIC EQUATIONS
awrsﬁ miageE

g JyT TR 5T
Swr3t mitgae T Mgy ax? +bx +c =0
TIfAE a, b, c Tw3fea Aftmrat g5 |
AFI AT ax? +bx +c= 0§ Iux Izt
feg ges RE1E 3t Swrdt milges @ WS
79 feq greads § fieg © so9g Ha &
y3r fa3 |7 Aae 95 |
Yyos <91 of feut gt »nt feg uar a9
Aae ot &t et 3et mitaes © ewsfey
wmm@wwwe’f@aﬁww
AT |

cwr3t g9 : WSt milEdE ax? + bx +
c=0, a;aoemwﬁ"éaz

2 b
x= bt “Zb — 44¢ 359 b2- dac> 0
a

swrdt milgaE ax?+bx+c=0,a# 0%

a)ga‘u—e‘dwmmbz—ztawo
1

b) € §IHT HS IS 7T b2 —dac=07J|

¢) TE Ty B9t T2 F7FF b% - dac <0

d) o’ - B =(a - Py +3ap (o~ P)

w3t mildee ¥ wrg Jat 7 :

a) 1 b) 0

c) 3 d)2

35 fadtn fe'g faost swrst mitags &
a) x3-4x+3—0

b) x* +— S5(x=0)

¢) -\‘2+}1—=0(x¢0)

d) x(x2+2)+1

J5 fedint feg faost ewst mitaas 9
a) x>-6x+4=0

b) 2x2-7x=0

vi)

Vi)

viii)

ix)

6.

A9T a M3 P WSt HlaadE ax? + bx +
c——-oé):ma?rsﬁ

_=h _ 'XE"?‘EE
w3 UBT ¥ FTIET = of :ﬁ
_ WIBHE
ergsty
ewrsﬁmﬂaaze’rmﬂe‘wfe%“ l
A99 ‘o« W B SwrSt milgeT € S
g5 3T mitgds J2art

X*— (UBT T 73) x + HB' T JSSUT = 0
ie. X—(a+P)x+ap=0
ie.x?-5x+P=0

Aad Sw3t aflaes € §® w97ee O% 37
€7 ygs =TT T

o + B% = (o + B)? - 20

o’ + B = (a+ By} - 3ap (o + B)

b - dac § fomfafude fagr Aier §
o?B + PP = af(a + B)

(o + B)? - (o - B = 4o

¢) x+3/x =x2
d) xH1/x2=2

feq Surst mitage © fas smzsfea us
A< I8 :

a) | b)2

c)3 d)4

fea f3s w3t sgue fdfonr faget ou
Aaet T ¢

a) 1 b)2

c) 3 d) 4

T3t MRS 4x2— 25 =0 ¥ I8 Jar :
a) x=%5/2 b)x=+3/2

c) x=%2/5 dyx==%1/2



10.

11.

12.

14.

75 fafy w3t mitads € & J<ai :
K246x+5=0
a) -1,-5

¢) 1,5

b) 5.1
d) -5,-1

Aad Aiaas x> +ax+k=0 & HZ TR3fea
W3 YT I I K € W& Jar

a) K< 4 b) K>4

¢) K24 dK=<4
Sur3t mitaes x> = 4 T UB T8
a) xX=zx6 byx=+/7
¢) x=6,6 dyx=+2

U3t AiaEE 22 + K2 = 0 & WB T% ¢

a) 2=k, k byz=+k

c) z=% [k

d) z @ §¢t T3feq yw &dt 751

35 fafy wst mitaes o fanfafide
ugr a9

a) 2 b) 0

c) 3 d) 1

79 SWr3t mitaas T faafaitse free

F W 32 3t got €9 faugr sta 7=ar:
a) & Sw3fex g=ar

b) ¥¥ THIfEF T HorHd &It dar

¢) ¥® em3feq &qt Jear

d) 48 T3feq W3 g9 aat Jar

. ETE X - 7x -8 =0 T HS TS :

a)2.,4 by -1,8

¢)1,-8 d 1,7

Swrat mitees ax2 +bx +¢c=0,a% 0 &
¥& eR3feq Jear Ade

a) b2—4ac >0

b) b2 —4ac <0

¢) Vb? -dac <0

d) -bx p 4 >0

17.

19.

20.

21.

22

Mathematics 19

. Agd p MF q AHETE x2-px+q = 0 T HE

J& 37
a) p=1,q=-2 b) p=0,q=1
c)p=-2,q=0 dy p=-2,q=1

. AT AHFdE x? + k(dx+k-1)+2 =0T HS

g3™8d I 3T kK € H'E I :
2 2
-=.1 by —.—1
2) 73 ) 3

301
d] ==~z

-
3

o] W

i
c) 3
k €T HE at J=29Im 799 x = 2 AHTaas kx?
+2x-3=0TTIHI<:
a) k=1 Vk=1/7
¢) k=-1/4 dHk=-1/7

. € &99 € TaTF 9T 63 34 J 179 ufamr

B PRI S e TPt I feqwe @ 37
&g5 U3T A9 :
a) (5,2)
c) (6,-2)

b)(3,4)
d)(5,3)

T &893 €T 79 8 J| Aad Gust € €87
TTEF Y15 T ITETIYIT I ¢

a) (2,6) b)(7, 1)

c) (5,3) d) 4, 4)

3 ®ar3g Ayss viat ¥ T9ar O A3
50 §, 3 AY9E mid Tt
a) 3,4,5 b)2,3,4
c) 4,5,6 d)7,8,9

WSt BINIY USIHA YIS SHIT €
TG T HF 365 7 3T 599 Il

a) (11,12) b) (13, 14)
¢) (12,13) d) (9, 10)
g}ﬁaax,xz +3x -5 =0 € HB' Tr JE5eH
d:
a) -5 b) V5
| 1
c) ’\/——5- d)-“\/_g
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- 23

24.

23

Mathematics

Had fea wrfeg & &aret €n <t I3t @
2 JIET WF UIJEH 800 TIdT Hied & IF
Havet w3 9=t g=ait

a) (10 41eg, 20¥teq)

b) (200 Hted, 400K2T)

¢) (200 Mg, 40 HteT)

d) (303¥tes, 601leT)

99 € 99t @t weg 3 F mI Qo o
ST 54 T I+ 599 JIT :

a) (6,9) b) (3, 6)

c) (7,10) d) (5, 8)

K T H& u3T g9 dA¢ milaes (K + 1) x2
2 K-1)x+1=0%ys enzfea m3
¥ I ¢

a) K=2 HK=3
S K=1 dHK=4

26.

27.

28.

29.

k @it faggtnt a3t T3 95 fsfy
Swr3t Mlaes € 4§ 5999 75
(k=12)x2+2(k-12)x+2=0

a) k=12. 14 b)k=6,12

c) k=6, 14 d)k=0,8

€7 milaes e W& 98 : 2.3 M3
2.3 :

a) x2-4 /3x-6=0 b) x*-4.[3x-12=0
¢) x2-12=0 d)x2-6=0

maet fgga ev Sy @a € woe 3 7
Aehited we ) A99 €n o g9 13
Aehitea T 3T orbt €2 g y3T 99 ¢
a) 3 Adhites, 10 Achitea
b) 4 Ahiteq, 11 FehiteT
¢) 2 AehiteT, 9 idhitew
d) 5Fehiteq, 12 Adhited

Hod Baragw f3® &gt € T o AT
110 J 37 &9g I=aT:
a) 4 b) 6
c) 9 d)5

31.

32,

33.

34.

35.

36.

3

(-]

. MIEE5 2 - 1 +Jx — 9 =5 HB I

a) 0,2 b)0,-2

c) 0,-5 d)0,5

799 o, p W mitaas X2 +x+1=0%
& T5 3 e IR

a) -1 b) 1

c) 2 d) 0

A99 o, p WSt milaes 2x7-3x+1=0
T HE T8 IT o?P + af? T HE IZ9
a) 3/4 b)-3/4

c) /4 d)-1/4

AT o, TS X2 - 4x -5 =0T UB TS
3t o3 + B2 T Y4B IR

a) -4 b)4

c) 2 d)-2

I o, B IS x>~ 4x - 5=0 T UB T&
3t ol - BP O uE® IR
a) 256 b) 156
¢) 150 d) 166

A9 x2+ax+3 = 0 IHlaeE e ufasT HE 1
J 3t oA y& G2 :

a)3 b) -3

¢)2 d) -2

HIF 5x% + 13x + K = 0 ¥ fo U& THI HS
grgmed 3t
a) K=0

c) K=1/6

b)K=5
d) K=6

. AT o, B AHIEE X2 + 5x + 5 =0 T HS TS

3t 81 faust Swd miffaes 3 far e ys
2a M 2p T :

a) x2—-10x+20=0

b) x*-10x-20=0

c) . +10x+20=0

d) X2+ 10,4 20=0




40.

41.

43.

a) 4
<) -2

b)3
d) 1

. 989 WSt milads S ST AT 10 T

w3 we€ 2 § 3 Surdt mitaes T3
a) X2+ 10x+24=0
b) x2+ 10x-24=0
) xX*—10x-24=0
d) x2-10x+24=0

Ha¢ MdEs ax? + bx + ¢ = 0 T feq ¥®

TR e fIms ger I 3+
a) 3b2=16a b) 3b% = 16ac
¢) 3b=l6ac d) 3b% = 16ac

k ©F s ©F ddd w3t Avtaes
x2+5kx+16 = 0 & & Tw3fex &1 i

a) k> - b)--§<k<-iE
5 5 5
c)k<§ d)k:§
5 5

. edEIrer Az 1S5 oI GuereGue T

A2 3/10 T 3T € &9d IS0 :
a) 5,10 b)6,9
¢) 8,7 d) 12,3

a9 p M3 q WSt Mg x2 - px+q =
0, € Y5 I& I

a) p=1l,q=-2

by p=0,q=1

c) p=-2,q=0

d) p=-2,q=1

SwSt mitaes AR € Wt ov A 1/4 M3
JESUT -1 3T Mtads JLI:

a) x2-x=0

b) 4x2-x+4=0
¢) 4x2—x-4=0
d) 4x?+x+4=0

45.

46.

47.

48.

BHH\DW\IG’U‘IDWNH
= O
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k @ W& U3T J9 dda9 fegd mitads kx2-
6x-2 =0T H® 99789 I

9
> — < -
a) k= 5 b) k< >
3 9
¢) ——<k<= 4 k=—-§
Ha9 o M3 B T3t mitaeT 2x* +6x +4
=) TR IS ST HS @ Ag I a+p=
a) 3 b) 3.5
) 6 d) -3
AT SwWrdt AT ax? + bx +c =0 B HS
9799 9 3T ¢ T dIHI UIT a9
- by b
3) 2a ) 2a
-b? b?
e dy —
©) 4a ) 4a

WSt AflaeE X2 =287 08 I

a) 2 b) 3
c) -2 d) fegt f<'a gt aat
Quadratic Equation

d 13 b 25 b 37 d
a 14 ¢ 26 a 38 b
a 15 a 27 ¢ 39 d
b 16 b 28 d 40 b
c 17 ¢ 29 d 41 b
a 18 d 30 c 42 a
a 19 ¢ 31 a 43 a
a 20 a 32 b 4 c
d 21 b 33 a 45 a
d 22 a 34 b 46 d
d 23 ¢ 35 a 47 d
a 24 a 3 b 48 d



22

iii)

Mathematics

Commercial Mathematics

Tyrfaa Aifea (oS Ha)

A9 9 H'S (S.P) > ydle H'® (C.P) 3F
TF=SP-CP
AT SP<CPITTIT =CP-S.P

&g At grat yStEI & gu &9 J=it -
b3S
% = 100
& % cp
TSI % = 2;?): x 100
g

8 - Mfag B +8CT %
SP-wifag Yy -8<

ATds fen™ . 99 % Ud 91 © AN

fea fagr g 3t femma § muas fonws
nye gt
PxRxT
ST e
P =45 0&
R% = fenra ot AgTaT €9
T = AT (AT fe99)
a3 fenrw : 79 39 fonfog AW g
famxmfeqﬂaawwasfmsf
mewmmfeﬁwmaﬁw
3 fons 32 ¥S & Wog I 88 3 fen
few & fEag fenma »mye ot |
RN
A :P(I+TO—6J
fAfgA =93us
P =-=
N =

R% =fonrmates
fumgg fews (C1) =A-P

crep (] -p
e 100)

T

v) 9T N : Add WAl JEt 9 7 e Rrar

H'® &9€ »Tr I3 yatow It 3t QA HE
& 3¢ S oy Tt}

IIAE Fa TS : fawzg Gws fev
mémm@mmma

yatow A ST geT 3, ferrgrar§@rrax
mmmmmwm

vi) famar : gt fAost at wdtee saraw
viii) F3* T TIANAIS : HY 39 I 9T § faHbHT

feg St A7 AaeET 9

a) AT a9 : 7 a9, fewagt vy ¥'e it
aaa*@w%@nafn“&aafﬁww
¥ fam MHES 99, U8 a7, Judt
g »mirfe AT o o5 |

b) MAT a9 : feT a9 fomast &8 HfFT
u f&'a o aer 3 fan 3g° feaat
ﬁf:aﬂaa AT &g, fifir Qu e

[

iX) ™HES &4 : Agd A SREHT I YUz

wes fai fagufas v 3 ST aet 3
3T TS Fd ©F UaT WUlE MHEs ©F
wﬁwwa‘déwmms
gz fer 31

WIHES JJ Spit &gt

fe'a® yan (84T 65 T8 T WT) BEt vies
9 ot 29t

T HMHES a9

1,10,0003: 39 ¢t a9 &It

1,10,0008: 3 1,10,000 3 €ug Tt e

1,50,0003: 3 10% (4000 3:)

1,50,000 40009 +1,50,0007 : F

2,50,000 3T €ug gt T 20%
(20,0003:)

2,50,0003: 3 4000 F: +20,000 7 : +

250,0009 : T ug gt er
30%



feast #ag (Gve 65 F W) BT MHES
&I Thot TIT ¢
1,450003 : 3 e JI &It
1,45,0009: & 1,45,000 3 €ug gt @
1,50,000 37 10%
1,50,0009 : 3 5009 :+1,50,0009: F
2,50,000 3 Qug amt =T 20%
2,50,0009 : T 5003:+20,0003: +2,50,000
s 7 : F Gug gt T 30%
T34 srarfaa faet o Oye farest =g <9
65 A% 7 fen 3 <9 g< Qust Bt :
B IS ad
1,850009: 39 et qI &It
1,85,0009: 3 1,85,000 F : 3 §ug gt
2,50,000 3T T 20%
2,50,0009: 3 13,0009 : +2.50,0009 :
Gus Gug gt &7 30%

1. fea a9 2,80,000 7 : f<9 yfgfonr w3
2,00,000 § : f&g Sfomr 37 a7at % J2ait :
a) 27.57% b) 29%
) 28.57% d) 28%

[

mﬁaﬂwwuﬁ?mwa‘zz
wame It BF % I

a) 50% b) 100%

¢) 200% d) 25%

3. feaiug@s o3 & fea fus@er 4257
e wdtfenr #1215 7« @0 & mrust

vas 3T forfe fe'g sare da9 €9
fua*@a'z;ssoa fevevs*@we*w
% JI9Ir

a) 50% b) 25%

¢) 75% d) 20%
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&2 1. Agg fea feraat & % »Hes
10,00,000 3 : s'nrfuaaew@nxm{ew

- aa@w 10% AIg9H @aT Uer J1

2. U9 fe'q femaat & wvius winies a9 §ug
wfua'f-e'?mfﬂ'funrr@'uaae’rw
Uar J1

MHEE 99 3 8T ¢
J9 femast § €7 &t »mies fe9 gy
fsgufeg 593 a95 3 mes a9 &9
et TS|

i) 7so% Ifey fadt (GPF)

i)y AISHfsa/uafsa sfey faut (PPF)

i) A3 fey faut (CPF)

iv) JgY g A (GIS)

V) ?eww(ucﬂ‘;mfe‘auupawﬁm
[

vi) € gfent &f fe@rs Stw
vii)y Une® ®rele feshan (P.L.T.)
viii) W F &T I1E 9+ e fouw
ix) THIST 9T YT U39 wrfe
3. PAN : AEEl 43T &89

4, AYT 15 WI T ydie e s9we I QusT
T 2T HT T, 3T T % IS
a) 50%
b) 20%
¢) 25%
d) 40%

5. Hegnfeas e H® 450009 18R § 8<
. EF 423007 : few Afomr AT § It &
&t g9 9=t -
a) 8 by 7
c) 6 d 9

6. feamt gz usr a9 fAos ot 53t =g &<
15% ™MT 20% T AN™S T :
a) 30% b) 28%
¢) 32% d) 35%
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7.

10.

11.

12.

13.

14.

feast gz uzT a9 faast ot 83t ¥a 8t
10%, 20%, 40% € AN'S T :
a) 20% b) 30%
c) 40% d) 10%

A9 IS T uifaa W& 5009 : TS &<
B 15%, 5% T I+ ST U IS :

a) 403-759 : b) 403007 :

c) 403259 : d) 403503

fear gdtedn e wifaz H® 6009 : T3
£¢ & 9 5% T 37 gatean € ydtee 9 §
faat ot St 9t

a) 5009 : b) 5953

c) 5709 d) 149837:

feT Buey 9% &2 8= F gmT 235259 ¢
feg fuw faor 3 3 fem ernifag HE I=am
a) Rs.25642.25 b) Rs.25642.75
¢) Rs.25642.50  d) Rs.25642.00

1
28005:9*17 A% e 10% St 83 &%

fimfag fenmra T, fomra farrat sarfenr
Aer g

a) 440359 : b) 442-359:

¢) 440-50F : d) 441359 :

2400 3 : € 2 AT 6 HI1& €7 5% ©f €9
&% fimfeg feura T Fefa forma AgTaT
Farfenr et § .

a) 312:507 : b) 312:259:

c) 312009 : d) 312759 :

fe'g awaded 750 7 : Tt g v I A7 200
g : C.D.P M3 &% Tt 6 HI1S Thrt famar,
9 HO1& 100 7 : & 3T famg &R e
fenrs ©t v 33

) 315 % WETET b) 335 % AT

¢) 33-;—%

fea fenast & &9 3 331009 : @r Qua

ASET d) 33% ASST

15.

16.

17.

18.

19.

20.

fer & Tusw qas & Ter JAIT A9
A%TsT fena €t ¥ 10% J I fams <t
IHT TSt
a) 130009 :
c) 134109 :

b) 131109
d) 133109:

fea Arfea® 2700 g : IaW = fefemr A7
900 g : C.D.P. M &% Tt 2 Watd ehwt
fomat, g9 fear 915 3 : &, 3T fawzT s
oo fewra ©f w9 J<ait .

a) 13-41% ABET

b) 12:41% RAB&ET

c) 14-41% ABTET

d) 11-41% AT

PAN &t %99 T :

a) AETEl 43T &89

b) mETEt y3T 59

¢) ufgst T8 yrgr &5
d) aEt <t &at

Jat f& bt f&9° fagst soC < gwer &t
a9 =< f<9 aat T1

a) JHSIT §93 YI'E U39

b) UHes Srele feshdn

¢) IFY g™ HatH

d) Aere Wadle feT fiar Ui sar@er

d) LICEt fams 3



21.

23.

24.

25.

HHE gusT w7t § 78 fee faar g9 g
J=ar -

I&E M™Es  5,40,000F:

PF 5000 T : Yyt HatsT

LIC 5000 g : (faumat)

N.S.C. 20,0009 :

a) 1,12,0009: b) 1,20,0009:
c) 1,00,0009: d) 1,10,0009:

f&awt &¢ 3T a9 fAgst dinst 9 &
5% MI 10% € AN'S TS -

a) 14.5% b) 16%

c) 15% d) 20%

IFFCO €T »3dg T :

a) f&famis Tong gadtaeae agudfes
b) fefamiz Sovg eactaelag agudfes
¢) fefane eavg egds diag Judns
d) aet <t sat

HH™S HaT & @& »™Es 264000 F : T
A% 99's @7 & 40007 : CM : 71eT T81®
¢z feg o2 189 99 A& 3600 F : GPF
fe'g mym aget I W3 25000 7 : PPF &9
3t ERE »iEs 9 €T J=ar

a) 11526 b) 11500

¢) 11626 d) 11600

fem 7 a7 gt & 1,80,000 § : I5UT
st 7o €Ra 12000 3 : U=ide &3

fe'g myr 93 37 GH =T v a9 J=am
a) 36009 : b) 41009 :
¢) 44009 : d) 40009:

26.

29.

30.
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5000 §: ¥ 5 A& §¢ T TIINE aHT
u3T F9 A9 forw O €9 6% AE®T 9=
w3 feus g9 ferrat mfeg get 9=
(37 T (1.03)10=0-7441)

a) 3720.503: b) 3600 T:

c) 3800 @: d) 4000 g

. gt &g UAss T fAmd 9000 & 9

W& s fiset 1 6w oo fid3T a9

y3T g9 Aa9 BT dt =F9I 9T a9t
a) 42009 b) 44007
c) 46003: d) 4800F:

feg @39 sTarfax € Ar&™ST UHS 141600
g J1u3 73 fa @ng gt gg €= u=ar,
Ad9 I 3t GRS fdat g9 €T u=ar ?
a) 24003 b) 1800F:

c) 2003: d) &€t a9 adt

fea nreit g9 ferrat &9 feg 10,000 @
AHT g9evger 7| A9 ferw @ €9 10%
3= 3 e 99 fawrat fimfez § Afer
J 3 O w3 feg 2 AE e fas i
T T Ar=ar (83T T 1.05)4 = 1.2155)
a) 431009 b) 421003

c) 450009 d) 460003

2500 § € H®US I 2 A% THI TBUS
uIT g4 da9d femma of ©9 5% fmfog
forma st 39
a) 30453
c) 30259
d) U3T &d1 SIrfen a7 AaeT|

b) 30359:

COMMERCIAL MATHEMATICS

1 ¢ 2 a 3
6 ¢ 7 d 8
1 d 12 a 13
16 a 17 d 18
21 a 22 a 23
26 & 27 ¢ 28

b

a S o6 »

4 C 5 d
9 c 10 a
14 d 15 a
19 a 20 ¢
24 a 25 b
29 a 30 ¢



i)

26 Mathematics

ARITHMETIC PROGESSION

naafefsa a3t
oe YT THMT AIHT ii) AP & n&F ye (femmyd gu) g<ar :

wiaait=tas a, =a+(n-1)d
fea-asnﬁ;i) ................ Afl=a+(n-1)d, @ Iomedt ue 31
m@mwmmﬁam i) AP¥ pnuUeiETAT I :
Aftprr «d” 32 fAam =W3 n

N S, =—=(a+1]
a,=a,+d 2
a3=a2+d _n B
iy a3+d or S, 2[2(1+(H l)d]
................ iv) ufg® n asm3afia yas wiat e A7 J5F
................ ffar 3
................ g = n(n +1)
an=an_l+db{"ﬁ-!l ! 2
Afag Afyrr <4 & Wt wigr oigg afge V) @Waﬁb@fﬂw_mﬁ
I 1 HET “a” UTTST Bftwm § W3 Ay nizg O HS g<aT ¢
“”, I 3a,a+d a+2d,a+3d,...3& a+b
mAt Maariefsa B3t (AP) agTar | = >
Jot {3 migaHt feg fauar AP misgH 4. QusstefRfAme nerue 3-5n7:
J: a) =2,-7,-12,-17, ...
a) 2,5,8, 11, ........ b) 2,4,6,8, ........
b) 3,9,27,81,........ c) 22,32, 42, ...
c) 1,2,4,9, ... d) 2,4, 16,.........
d) 2,4,16.......

5. vag far midge st er 72 ue 34 M3
faggtsster nerue (1-2n) T 132 yg 64 7 I GAAHiEI9 Bt &
a) 1,3,5,7,........ 18T YT YT dq
b) 2,4,6,8,........ a) 87 b) 88
¢) -1,-3,-5,-7, ....... c) 89 d) 90
d) —-2,—-4,-6, ........

. N 6. A.P3,15,27,39,.. 2 54TF ye I
dot fed miggt &5 fagar AP magy a) 739 b) 630
& c) 639 d) 636

1111
B g g o 7. AP.11,8,5,2, ... @ 212 ug Faarr:
b) 22,3%,42,52, ........ a) 49 b) - 49
c) 0,-3,—6,-9, ........ c) 59 d)-59

.........



10.

11.

12.

13.

14.

15.

ST 124A.P.4,9,14,19......

T J?
a) 24" b) 25
c) 23¢ d) 26"

AGTI AP T UfIBTUT -7 M AT 939 5
J 3t 18t ue dt g=ar

a) 68 b) 75

)78 d) 79

793 3n-2)AP e n2rUe I 3T 7S

a) 21 b) 3n+2
c) 19 23
5 fefy nigafefaa 53t feu fas ue
J5 ?
422 +10
969 3, 2, ........ > 3
a) 27 b) 28
c) 30 d)32°

ga"r—-3,—7,—-n, ........ T -403 yo fagar
a) 100

b) 101
¢) 102 d) 103
fex APETIHITUE 1/5T M3 5 T UT
1333tufasTue......... JSar:
a) 115 b) 15
c) -15 d)-1/15

Aad k+2,4k-6M3I 3K -2feT AP T
f3& FAIT YT T& Ik TTHH TR
a) | b)2
c) 3 d) 4

fear A.P. €T nETUT 5-6n T ITATETHET

16.

17.

18.

19.

20.

21.

23,

24.
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B 3+T7+1+15+........ ar 47 fagaar
e JI

a) 12sF byue FIt T

c) 102 d) 7=t

SR 2+15+18+21........ +30TT AT
y3ITag

a) 1470 by 147

c) 1407 d) 1070

B3t -8,-4,-4, ... +40TTASTH T
a) 500 b) 400

c) 600 d) gt aat

T -12,-19,-6,-3 ........ e f&s et
TTAS 3T AS I AT AiZe® 54 39
a) 11 b) 12

c) 13 d) 10

fea A.P.€ muUet @r 97 3m? + 4m J 1few
o Pty J=ar:

a) 6P+1 b)P+1

c) 4P+1 d) 6P
ss}3+-159+%+ ........ & faRue ate
STt AT 23 d<

a) 4 b5

c) 6 d)7

fed AP.E S, =n+3n2T 3t rerue
—- .
a) 6r+1

b) 6r— 1
c) 6r d) det St 5t
ufad n yfafaa ffimret o F3 §2ar:
fea aafefsas=ti, 4,7, ... efas

Yot ¥ 93¢ 3725 9= ?
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25.

26.

27.

28.

29.

30.

31

Mathematics
a) 60 b) 45
c) 50 d) 65

AFT1+6+11+16+........ +x=1483 3"
x=7

a) 36 b) 63
¢) 35 d) 53

1 1 1 .
w3t THF g e €T 9 yet 3T
3w J<grr:
a) —5/3 b)-1/2
) 1 d)—3/2

100 3 1000 € feg 713 g&3HT Yas #art
T HFE® UIT Fd ffs 75 a1 T
A< 75 :

a) 44955 b) 55944
c) 54945 d) 45994
Haq fea niaafefsa 53t few 20=t ue

18 Uw 3 10 frmwreT 32 3T AT A39
gt g ?
a) 6
c) 8

b)7
ds

10 M3 200 ¥ &9 A9 »iat @ 9588

ST U8 6 B AT RAT TS ¢

a) 3360 b) 3260

c) 3060 d) 3460

50 HTed W ¥'T ©F yeret gEt ufod Hiee
€ ¥I9 6/~ MI MIB HieT BET 1.50
HoMaT J I 13 Mied €t yerdt 395 BEt
fast ygg JEar|

a) Rs.2133.5 b) Rs.2137.5

c) Rs.2331.5 d) Rs.2136.5

feq mreit ufed A& 100 § w9
e oF rat fFgGu 203 sugaier

. 3140 Bt gie ORET 993 fa Gt

a) Rs. 17600
¢) Rs. 16000

b) Rs. 19600
d) Rs. 17000

32.

33.

34.

3s.

36.

37.

38.

39.

AP E 35 Egg uzsrad fagr v Az 12
WMI IS 48 92 :
a) 2,4,6
c) 2,6,10

b 1,3,5
d)3,6,9

A.P. € 99 599 U3T a9 fAosT € AT 20
T w3 €ust S TIIFET AT 120 T
a) 1,3,5,7 b) 2,6, 10, 14

) 2,4,6,8 d)3,5,7,9

A.P. € 35 g9 u3T 99 fagt v #3 -3
IMS T 183 :
a) 2,-1,4

c) 241

b) 124
d)4.2,1

10 M 100 feg A9 ¥ vigr =8 dgd T
H3es J<ar:
a) 2075
c) 2400

b) 2475
d) 2275

Aadfed AP @ 7R yc @ g G e
I yg € 11 JST < 5997 T 3+ 18
UE’Eﬂ'ﬁéH\"’:

a) 10 b) 20
¢c) 0 d)a“m’ra’rm’f
03 50 feg o SugT o AZeH J<ar:
a) 525 b) 650
¢) 575 “d) 625

_ 3n’ 5n
fexr AP ETufoBt nue e Hg S5
T, 25 T YT IS :
a) 67 b) 76
c) &4 d) 62

100 M3 1000 © feg f3&s niar =& d9ar
THASB UITIT A 73 IA T
Aae 75 :
a) 128
c) 126

b) 120
d) 124



40.

41.

42.

43.

Jo fafy sigarfefaa 53t e fagsT ue
ufasr 20, 191, lsé 17%, .........
faaTava ye d=arr ?

a) 26 b)30<t

c) 28=T dy29<r

I fefy riagafefga 3t 3, 15, 27, 39,
....... grfagarue 54 @ ue 3 132 fapmer
J=ar ?

a) 66=F b) 65 =F

c) 2= d)76 =t

%H)’fl!_a_i_ ﬁ . ﬁn ﬂ . aﬁ . 7'618'
731 I AGET I& ?

a) 126 b) 122

c) 1390 d) 128

AT 2x, x + 10, 3x + 2 feq »igafefaa
Ffeg T I xTHSUSIT AT

a) 6 b) 8
)5 d) 0
a9 fea aarfefga sat @ “n” yerar

HIFS® S_=3n? + 5n, I< 3T AT ¥izT
yIrad ?

45.

46.

47.

48.

49.
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Had abec, AP fegdes I amT b &

ANTSITH T I=aT

a) atb b) (a+b)(a-b)
a+b a-b

c) > d) 3
8,10,12,14,16,..... . AHTE3T HO J=aT

a) 12 b) 14
c) 10 d) 8
72+69+66+63+.......... +33 A3 U3TAT

a) 734 b) 735

c) 732 d) 736
ST 10,7, 4,........., 2erfueg 3 |1 ue
TTHS UIT I

a) -32 b)-37
¢) 37 d) 32

Aag fan A.P.3St T 102U er10deET
EnsF T 15T UE T 15T TET I

3t 252 UT TTHTS UST JI
a) 10 b) 15
c) 25 d)0

Ho@ AP, ¥ pi uet T 7 q I 3 ¢
UTT €T AT p J I ptq UST T 73 IO

a) 0 b) p-q
3 g g% zo ¢} pHq d) -(ptq)
AIRTHMATIC PRGGRESSION
1 a 11 a 21 ¢ 31 b 41 b
2 ¢ 12 b 22 b 32 a 42 d
3 ¢ 13 d 23 b 33 ¢ 43 a
4 a 14 c 24 ¢ 34 a 4 c
5 ¢ 15 ¢ 25 a 35 d 45 b
6 ¢ 16 a 26 d 36 ¢ 46 a
7 b 17 b 27 b 37 d 47 b
8 b 18 b 28 d 38 b 48 a
9 ¢ 19 b 29 a 39 a 49 d
10 ¢ 20 a 30 b 40 ¢ 50 d
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Co-ordinate Geometry

fsaew w3 favrfest

Important facts and formulas:

Y
Pxy)
x‘< o) >
XOX' & X-gar afde 95
YOY' § Y-mer afde a5 Yy

Fogfeg gg I avt e pa st femerx
fsgen »ig 3= X-ud T t—za”ra'aﬂ
(abscissa) TTTE T& wT Y fsgom »ig e
Y-U3 3 gat § A< (ordinate) IfIE T51

vat 739 : € fignt fev gat faget ©
?ﬁ?ﬁﬁlﬁi?(x,,y])n{?(}(xz, y2) 9,
Jot fegra: .

IPQ| = J(x; - x) + (g — )
fig P (x, y) € u& fée (0, 0) 3 gat
= J(x -0 + (y - 0)?

fegae saysT : @ fig € fogewm »iw

T3 frgar et (XI,YI)”E{ (2 ¥2) &

ﬁ-rw@e*e@wamegﬁaagnm
Lmp feg geer I

mX, +m,X; my,+m,y,
m+m,  m,+m,

fggw € Joga @ fagen wig :—

fear AABC € fiug @@ A (x1.y1), B (x,

y2) M3 C (x3,y3) I€

3t fggw © dvdd € fasgen »id 931 G

~ ? ~

X;+X,+X; Y +Y>+Vs)
3 3

HWE@fH?D P(Xx,)’l)”*?Q(Xz,m)'t“
Ha ffg § 3t D @ fsaew »ia J=ar

(Xl+x2 )’|+)’2)

2 2
Alx,,¥)

B(x,.y,)
AABC T 43d9e®

ClxsYs)

|
= 5 [X, (yg—y3)+xg(y3_),|)+x3 (yl -yg)]

fﬁg\(xh v1), (X2, ¥2) M3 (X3, y3) AN
Jcdrl

o |
e 5 [x| (Y2_y3)+x2 (Y3_y|)+x3
¥, ~nl=
2 AABC T 433@E =0

fgs fig A (xp, y1), B (%2, y2) M3 C (xs,

y;)HW?S'EIEEITHT YT I J=ar Ad9
Jot fe'ght rfagt fes det i rfast

i

a) AB+ BC =AC

b) AC + CB=AB

¢c) CA+AB=CB

d) AABC € 43988 =0

99 fagmt e g :

fea AMT3T 939gH, A9 st garet
§9™99 TS |

fea »irfeg, Aa9 Gt gaT=et w3
feggs St »uw feg 999 3|

feq AHYZ9TH, AFd 977 FATST TIHT
e »3 feges fea A9 3 Mt I



d) fea Z9ar, AT AT gATST FITHT I

w3 feg9s <t 9999 |

f8& fagwt & geqr :

(i) fea migHt fade, Aga A f3s garet

H9HT I |

fegew »igt famfest

1.

3= fag mis J=ar AdT
a) ATTEIIEHE =0

b) ATTHIIRT <0

¢) ATTHITEE >0

d) det st &t

979 fie M 39 9g9gA g'8<ar Aaq :
a) St € gAY g9THg I

b) ATghHT gATET g9TaT I

¢) fen et @wdht gaTet goTEg I
d) get<taat

3 gt & fis s 3 fea miagHt
fad= g9t Hag

a) €l € gATS g9Hg IT

b) ATPHT AT HITHT IS

¢) fer &t @it gret sorgg I
d) et <t =gt

HE(HA(xl,y) B(xz, y,)C(x3, ¥,), AABC

@ fmyg 95 37 T dedd (Centroid)
@ fsgon vig 3=ar:

X+HX Y1ty
)72 2

b)

- Xy Xy + Xy Y1+Yz+)’3)
2 ’ 2

(X, +X, ¥ +Y,
c) 3 3

d)

£}

X[ +X +X3 Y +Y, +y3)
3 3
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() fea megwt f3de, a9 aet € gATet

§3799 d< |

(i) fea mia<st fade, Agg dgt € gA=er &

&

TOIT T ASeH IIHI AT IIITE A8
<€ §9'99 d< : "

%Hﬁ_g“\\()Sh y1), B (2. )’2)’”§C(x3,)’3)
AHTS J&IT Hdd

a) AB+BC+AC=0

b) AB%+AC?=B(C?

¢) AB=AC

¢) AB+BC=AC

€ & (cosh, sind) M3 (sind, -cos0) Tt

nmf‘a'aeﬁﬁéaﬂ
a) 3 b 2
c) 2 d) 1

Hag fenm € fiwe fig (7, - 95) ms'
(- 11, 3) I= T g T wau-femrm I

2 iE
0 \/3;T0 d 1/1;68

efaaammﬁ?(l 2), (2, a),
(3 —2) AN"& 94t
a) 1
c)3

b) 2
d 0

AITA (X, y+ )M B (x+1,y+2) g
fagc (3/2,502), 33t x, yerys ugraq |

a) (1,-2) b (2,2)

o) (-1,-1) d) (1,1)

HE BT AQ2,3) M3 B(-4,-9)Efigdes
3t AB & W1 fig 3=ar:

a) (-1,-3) b (1,3)

¢) (-1,3) d (1,-3)
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11.

12.

13.

14,

15.

16.

17.

Mathematics

‘k efag s Tms fag . 3), 65, Hym3
(1,9) AN™S gt :

a) 3 b) S

c) 4 d) 1

Hae fig (3,0) M3 (0, y) feg gat 5T 37 x

THE UST G ¢

a) +4 b) 4

c) 4 d 0

A99 f&g (3, 0), (0, b) M3 (1, 1) IN'E TS
11 -

3T —+— THSUITET
a b

a) 1 b) 2

c) 0 d) -1

(14,7)%5{8@3‘%’%13&5%3:2
I 2,0 :
%) (39
)57 575
33 o (37
935 55
FATA(-3,2),BRqM3 C(-1,4)fex
AHegHT f3d<E @ fAyg 95 M3 AB=BC
3{- .
a) P+q=1 b) P—q=1
¢) P+q=0 d P+q=-1

faa= o Soga U3 a4 fAan € fAue
4,-8),(-9,7) M3 (8,13)T&:

a) (2,4) b) (1,4)

) (4,4 d @2

@ fagwt A(10co0s0, 0) 3 B(0, 10 sind)
odt on

a) 10

c) 1

b) 6
d 9

18.

19.

20.

21. X

22,

23.

24.

25.

a9 fade € € fAvg (- 3, 1)»113-(10 2)
IS M3 Ted U fag (origin) 3 I 37
Hiwar fiug F2ar -

a) (2,3) b @.1)

¢) 3. D d 41

Ha3 f&g (a, 0) férem 3, 4)mM3 (-2,-3)
3 59Hg gat I T It a T HE Tar:

a) 5 b) 4

) 3 d 6

Y-ug e fag fagsr (4, 0) 3 (4, 12) 'gargd
g T I, TR

a) (0,4) b) (6,0)

¢) (10,-6) d) (10,-4)

-uae*fa?fmzfc HAHI (2,-)F
§9799 gat 3 T, <A :

a) (4,0) b) (6,0

¢) (-6,0) d (-4,0)

AB 3y €t &get 147, ?-Iaa’fHT-IA(B -
4)n3 B (- 6,4) T2 3Tk EHS 24!
a) 8 b) 10

) 6 d) -8

Hag € et p(2,-3) M3 q(x,5) feanize
l()crﬁrzzrwxerma'%arr

a) 84 b) 84

c) 24 d) 34

X-gar wid (6, 4) M3 (1,-7) & @
T I G faAau g Taeer 3

a) 4:3 b) 1:2
¢) 7:4 d 7:2
Hag fea fagn € 3= frga (7, x), (v,-6)

M3 (9, 10) TS MI AT (6,3) T3T (x,)
TTHE & g=ar
a) (4,5)

¢) (-5,2)

b (5.4
d 5.4



27.

3L

32,

. foym e fea fram (1,

T A(2,2),B(-4,-4) M3 C(5.-8) fea fagar
€ firgg g& It fawg C 3 fgar €t gat

U3 a9
b) V117

a) J63

¢) V85 d Ji13

Hag faas e @ faug (3, -5) M3 (-7, 4)
Is w3 fereraeqa (2, - 1) I 3T f3de
@ e fayg 329 :

a) (10,2) b) (-10,2)

¢) (10,-2) d) (-10,-2)

Q.- 1)YMT (5,4)Tag e fermae o Md
J5 3 fen € d'og © fagen vig d=ar:

2)J Aad gT &
aEd (3. 4) I=2 3t fom =T ge frar
J=ar:
a) (-5,-6)
¢) (5,6)

b) (_ 3 6)
d) (5.-6)

‘P ETHBUSTHE fAan T3 g (- 1,3).
QR.P)yM3 5. - ) ANs I

a) P=1 by P=2

¢) P=—1 d) P=-2

X, YMIZ,AG,1).B(6, kM3 C(8,6)3
§5 0% Aa9 v feg agg feg = 3tk
IJTHS I :

a) 2 b) 3

¢) 5 d) 4

f3& fagn (a,bte),(bcta) M3 (ca+h) &
ﬁwa?aaﬂgru‘aawuafaa
a)atbtc b) abc

¢) (at+b+c)? d 0

33.

34.

35

36.

37.

38.

39.
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ﬁawfsazﬁmefma(x 2x),(-2, 6) M3
(3,1) I T €9 TT 4ITTH 5 T
feqrety & 3 x T HS UST A

2 3
a)g b) g
)3 d)s
fag (-1, 6) fgemt (-3, 10) M3 (6.-8) &
fe@e ot Jur § fan mgus fev
Fear I
a) 7:2 ) 2
@ ~257 2 7
ffe P, - 1) fdgwt A(a, )M B(-3,9)

3 9998 gat I Gz T ST aoTHB UT
J=arr:
a) 5
c) 7

by -5
d) -7

fga—pr(s 3),Q (9, 0) w3 R(12,21)
fAug g<ar

a) FNEEIT-ﬁfE{HE

b) AHTIT It e

¢) maet faas

d) aet =t sat

Had AMT39 93991 ABCD € 3% figg
A(1.2), B(4,3), C(6.6) & 3t 98" D fa
J=ar|

a) G.1) b) (3.6)
¢) (6,3) d) (1.3)
AI9 A(6.5) M3 B(4.5) & feEe =t

wwmf&epos)yy@mf‘a
J<ar

a) 6 b) 7

c) 8 d) 9

mﬁ?;\(o 2), (3, m)my(m RERCEC)
T AfEZ T I m T US Jar:

b) 3

d 5

5)2
c) 4
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40,

41.

42.

43,

Mathematics

f3s fag (2a, 4a), (2a, 6a) W3
(2a + J3a,5q) fon f3d= € g 95 -
a) fear avgHt fad=

b) miegH faas

¢) AHa< fades

d) o€t <t sat

b)
c)

fage o 4g9es uaT a9 fane fua (2,
3), (1,003 (2,-4)T&:

a) —l;—ea’arfea*eﬁw

d) —?eaarfea*e?w
ﬁaaféafqgﬂé%?;fm’a:(a, b), (b, c)
M3 (c,a) T I €T ¥ fag I I 3T al+b+c?
T HE U3T a9

a) abc b) 0

¢) atbtc d) 3abc

I (0,0).(0, 5), (6, 5) M3 (6,0) gGE
J6
a) ANS3dgH

3 b) =aar
¢) mfea

d) 3T 9z9gH

739 e (k,3)(6,-2)(-3,4) A€ 3 3T k
T HE U3T I4:

45.

46.

47.

48.

49,

o | —

d)

19w

Fag g A, p)mM3 B (1,0) feggdt 5

TI& 3T pEHS USTAT |
a) 4 b) 4
c) 4 d o0

y-T37 A (3. -4) M2 B (1, -2) fi®ret get
Iy g farmgug I qe=rq ?

a) 1:3 b) 2:3

c) 3:1 d 2:3

Hag Jiae € € g (-3.1) M3 (0,-2) ™3
97 (0,0) 3 ¥ 3t fzm figg usT a9
a) (1.3) by (32)

¢) G.1) d 2b

Jide €T 4IdeS UIT J3 Adg fig A(0.1)
B(0,5),C(3.4)3=

a) 16sq.unit b) 8sq.unit

c) 4sq.unit d) 6sq.unit

x M3 y € AT U3T J4 "a9 & (3.6)
(34 e xy) T T I I

CO-ORDINATE GEOMETRY

1 a 11 c 21
2 c 12 b 22
3 c 13 a 23
4 b 14 d 24
5 d 15 a 25
6 b 16 b 26
7 a 17 a 27
8 d 18 ¢ 28
9 d 19 d 29
10 a 20 b 30

H OO OO LT

a) 2x+3y=4 b) 3x+y=S

¢) 4x+5y=3 d) Sx+3y=5
31 d 41 C
32 d 42 d
3 =a 43 ¢
34 b 44 ¢
3B ¢ 45 a
B ¢ 46 c
37 b 47 ¢
38 b 48 d
39 b 49 b
40 a
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TRIGONOMETRY

[ECCANE]

fea miast f3&= AABC @ &9, s &=
dE ABC =90° mZ §& ACB =0, 9 AB
=P, g9 AC = h W3 »rad BC =b, It

iii) tan0 W3 cotd BT TE T B T AT
I

sing = — = = & gu feg TamgeT ‘
WS h a) fsardt & = feu wese =/ 109
_wag b 3% T I3 MF LT § faot few
cosd = oo = A FUBE THI 9/10 7% JET G |
ang - % _ P b) fsardt & sfemis feg aeme T HI —
e b 78 g7 g9 M3 Ifans § faort few
. 0 98T THI —‘—?—mara‘ra%n
7 C
| ©) 3 § afewis few seme TRT o
SF TT cosecO = ”—1—-— secB= L , 7% FJET Il fAE  nuret)
sin © cos 6 . R
_ = enimr
cotd = " g e feuw
tan 6
o 22 e
c. EHE = — H &J1Fdr 3-14159
2. faazhzgt nigurg : wea 7 !
1 HEus 0° 30° 45° 60° 90° ¢ Yo get ¥ f3g=iget nizus :
sinf 0 12 1742 Y372 1 a) sin(-0)=-sin@ cosec (-0) = — cosech
cosd 1 J3/12 1/42 172 0 cos (— 8) =cosO  sec (-0) = secO
- 0 1 © tan (— 8) = — tan® cot (-0) = - cotd
_ 1143 . /3 by cos (90° - 8) = sinBsec (90° — 0) = cosech
3. f3a=vat neg migret: tan (90° — 6) = cosB cot (90° — 6) = tand
a) sin?0 +cos?0=1 cosec (90° — 0) = secO sin (90° - 0) = cosd
b) 1 + tan20 = sec20 c) sin(90°+6) = cos6
| + cot?0 = 29 cosec (90° + 0) = secO
¢) 1+ cotd = cosec c0s (90° + 0) = — sind
4. T-HBUITEHS: sec (90° + ) = —cosech
) sin@ M3 cosd TUHE 1 FFFAT tan (90° +09) =~ cot
RS 7 [sin6] < 1, [cosB] < 1 SOL (90" 1 8) = =il
d) sin (180° + 0)=—sinB

~-1<sinf<land-1<cosB<1
ii) secO M3 cosec € H® | F 8¢ &1 T
RIY A [secO] > 1, | cosech | > |1

secO <—1orsecO>1andcosecH <~
1 or cosec O = +1

sin (180° - 6) = sin0
cos (180° + 8) = — cosb

cos (180° — 0) = - cos@
tan (180° + 6) = + tand

tan (180° - @) = — tan®
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e)
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sin (270°~0)=-cos 0
cos (270°-06) =—sin 0

tan (270°-6)=+cot 6
sin (270°+0)=—cos 8
cos (270°+0) =+sin O
tan (270° + 6) =-—cot O
sin (360° - 0) = —sin B

cos (360° — 6) = + cos ©
tan (360° - 0) = ~tan 0
sin (360° +6)=+sin 6

cos (360° +0) =+ cos O
tan (360° + 8) =+ tan 6

: ufgst Sgvet 0° 3 90° feg Ard T-mzu™s

USTIHNT Jar |

ORIt 9uE 90° T 180° feu d=w sind
M3 cosecd USTIHA J=dt ¥rat AT
faeaua Jear|

Fiwct et 180° M 270° fe9 ST tand
I coth USTINT I& Tal A fasava
Jar|

90°
I ]
S A
180° 0°
T C 360°
{1 v
270°

gat SEt 270° I 360° fe9 =5 cosd
"I secH USTIHY IS TaT A fgzrana
J=ari

gu d= : FHge dgt @ng At oy &
@zeﬁ‘ufa@‘uaa%s*mam§m
wet g § §us Sa=T u=ar| few IgF
st oyt feg = 5% €ud €% Wy
Tt 95| fer d< § wAt €9 e
Wrye Jh

algz 3= : A99 J¥t THI ASt Wy o
mwgwwymmxm
set fAg § dot gaaT u=ar| few Igr
ST oyt fe'T dT &% J6T % Uy
Jet 35| few d< & At stee de
ol ol

Su = e
%mwmﬁﬁwmz

2) 54° by 60°
¢) 75° d) 108°
= ':’; o fzardt few Wy 529
a) 115° b) 120°
¢) 125° d) 135°
< 90° § Iz fea €F -
a) 72¢ b) 808
c) 92¢ d) 1008

cos® A—sin® 4 TTHTE I

a) 2cos’A +1 b) 2cos’A-1

¢) 2sin’A -1 d) 2sin’A+]

< 1050° faost Suret feg §2ar
a) IV b) I

o I d) 11

Q9= d< &t I=9r Ae foq 4F <1 @9t
@n T yogr=e Ot $uet @ sorag 9=
a) 30° b) 45°

c) 60° d) 90°

(sin® + cos0)? + (sinB— cosh)?

a) 1 b) 0

) 2 d) et <t ot

sec*A —sec’A T H'E J=ar
a) tan’A —tan*A

b) tan* A — tan’A

¢) tan* A + tan’A

d) tan’A +tan'A



10.

13.

15.

I —cosB

STHES UIT a4
1+ cos0

"a) cosecO + cotO

b) cosec 8 —cot 8
¢) cosecd + cot?0
d) cosec 0 cot 6

1

—————— TTHE J=aT |
cosecB ~cotO
l+cos 0 | —cosO
a) sin 6 b) sin 0
1-sin@
c) c0s2 0 d) cot©
cosec 0 G oy
T H & J<JI" :
cotf + tan ©
a) sin@ b) cos©
¢) cosec 0 d) cotB
sin 6 .
THE J&ar .
1+ cos®
sin © cos0 -1
a) cos O b) sin @
I —cos® sin® + 1
¢) sin © d) cos 6
sin@ T »fgaanH H'E 29 :
a) 1 b) -1
c) 0 d) None of these
1+ cos6 NI
ITH& J<&dI:
1 -cos0 -

a) (cosec O + cot 0)?
b) (cosec 8 — cot 0)?
¢) cosecBcot® d) cosecZBcot2d

799 tanx = | M3 x AT Saet few I3t
sec O TTHB I :

a) -J7 b) vz

16.

17.

19.

20.

21.

22,

23.

Mathematics 37

Hd9 sin 0 TET3IHT M tan O feeaHa T

3t o faost Suret feg §=ar |
a) ufast b) Stwat
c) At d) St
sinx+cosxTTIUI TUNS IJ=aIm:
a) | b) 2
i

) V2 I 75
- T .
Flaa'tanx=7§—3Tsinx€Tﬁ'&'U¥3F:
2) 2 b 5

-1 2
Ay Y
- 12 . o o a
ﬂaasine=-6.arsece@’)jsa°raearr

5 13
a) e b) 5

5 - .
) 1 d) aet gt 5

AT A = 60°, B =30° I sin (A — B) sin
(A+B)=
a) |

1
c)—z‘

b) —1

-1
d) B

sin 270° €T 4& &t g=arr ?

a) 0 b) 1
c) —I d) gt st aat
cos 135° -~ cos 120° o e
€08 135° + cos 120° T )
a) 3 b) -3
€) 3+242 d 3-2/7
sin 30° €T H & Jar:
a) 1 b —1

1 1
93 977



